STEAM Education Kit-Robot Science

Kit de développement pédagogique STEAM - Robot Science
Kit de educacién STEAM - Robdtica

Kit Educativo STEAM - Ciéncia robdtica
STEAM-Schulungssystem - Roboterwissenschaft
Obyuyatowmii komnnektT STEAM — poboToTexHVKa

STEAM Education Kit - Robot Science

STEAM 1§ 7|E - 2% 118}

Makeblock BIZHBEMY - BIBHEA

makeblock

EN Assembling Manual RU

FR Manuel de montage I'T
ES Manual de montaje KO
PT Manualde montagem TC

DE Bauanleitung

D1.1.1_KD010

PykoBogcTBO Nno cbopke
Manuale di assemblaggio
ZE HEAM

BT

Parts List | Liste des piéces détachées | Listado de piezas | Lista de pegas | Teileliste | Cnucok getaneit
Lista parti | #& =5 | SHHEE

Use of Screwdriver | Utilisation du tournevis | Uso del destornillador | Utilizagdo da chave de fendas |
Verwendung des Schraubendrehers | icnonb3oBaHue otBepTky | Uso del cacciavite | A3F
E2i0|H AL | BRI F

Mainboard mCore Introduction | Présentation de la carte mere mCore | Introduccion a la placa base
mCore | Introduggo a placa principal mCore | Hauptplatine mCore Einfiihrung | BeogHble ceegieHusi o
maBHoli nnate mCore | Introduzione della scheda madre mCore | H[21 = mCore 271 | 5858 4R

Mainboard mCore | Carte mére
mCore | Placa base mCore |
Placa principal mCore |
Hauptplatine mCore | asHast
nnatamCore | Scheda madre
mCore | 8212 = mCore|
Fi#iR mCore

Motor | Moteur | Motor | Motor |
Motor | lBuratens | Motore |
D | B

@) %

RJ25 Cable | cable RJ25|
Cable RJ25|CaboRJ25 |
RJ25-Kabel | Kabenb RJ25 |
CavoRJ25|RJ25#[0|E |
RU25 &4

@) \

M4*16mm Brass Stud | Riveten
laiton M4*16mm | Tachuela de latén
M4*16mm | Pino de latdo M4*16mm
| M4*16-mm-Stiftschraube |
NaTyHHas wnnbika M4*16Mm |
Prigionieroin ottone M4*16mm |
&5 AEE(M4*16mm) | M4*16mm
SRERHE

@

Chassis | Chassis| Chasis |
Chassis | Fahrwerk | LLlaccn |
Telaio | AAl | Feig

(1) 6

Mini Wheel | Mini roue |
Minirrueda | Minirroda |
Mini-Rad | Muru-koneco | Mini
rotella | 0| & | K{RéEBNER

@ \

USB Cablel | cableusB |
Cable USB| Cabo USB|
USB-Kabel | Kabenb USB | Cavo
USB| USB #|0| = | USB {34

©6)

M3*25mm Screw | Vis
M3*25mm | Tornillo M3*25mm |
Parafuso M3*25 mm |
M3*25-mm-Schraube | BuHT
M3*25mm | Vite M3*25mm |
LEAKM3*25mm) | M3*25mm #8244

@

Ultrasonic Sensor | Capteura
ultrasons | Sensor ultrasénico |
Sensor ultrassénico |
Ultraschallsensor |
YNbTPa3ByKoBOM AaTHMK |
Sensore a ultrasuoni | ST}
A | ERRRIER

Wheel |Roue | Rueda|Roda |
Rad | Koneco | Ruota | & | 8 F

® %

M4*25mm Brass Stud | Rivet
en laiton M4*25mm | Tachuela
de latén M4*25mm | Pino de
latdo M4*25mm |
M4*25-mm-Stiftschraube |
JNaTyHHast Wwnunbka M4 * 25mm |
Prigioniero in ottone M4*25mm |
25 AES(M4*25mm) |
M4*25mm SEERIE

@ .

M4*14mm Screw|Vis
M4*14mm | Tornillo M4*14|
Parafuso M4*14mm |
M4*14-mm-Schraube | BuHT
M4*14mm | Vite M4* 14mm |
LIAHM4*14mm) | M4*14mm 8244

@ ‘

1
Line-follower Sensor | M2.2*9mm Self-drilling
Capteur desuivi deligne | i Screw | Vis auto-foreuse
Sensor de seguimiento de linea | M2.2*9mm | Tornillo autorroscante
Sgnsorde seguidordelinha| M2.2*9mm | Parafuso
Linienverfolger-Sensor | autoatarraxante M2.2*9mm |
JWHeiinbii fatumk | Sensore M2.2*9-mm-selbstbohrende
segui linea| 44 3% HIA] | Schraube | Camope3 M2.2*9mm |
HEREAIRE Vite autoperforante M2.2*9mm |
K| S22 LFAHM2.2*9mm) |
M2.2*9mm B R4
;\\\ (10) @
Screwdriver| Tournevis| Plastic Spacer4*7*3|
Destornillador | Chave de Entretoise en plastique 4*7*3 |
fendas | Schraubendreher | Separador de plastico4*7*3 |
Otseptka | Cacciavite| 227 Espagador de plastico4*7*3 |
CafoH | ke T Kunststoffdistanzscheibe 4°7*3 |

MnacTukoBas npocTaska4*7*3|
Distanziatore in plastica 4*7*3 |
Z2fAE] ALO|N@4*73) |

4T 3R IR

0 m\
Bracket 3*3*120°| Support M2*85 Screwdriver | Tournevis
3*3*120°| Soporte 3*3*120°| M2*85 | Destornillador M2*85 |
Estrutura para fixagdo 3*3*120° Chave de fendas M2*85 |
| Halterung 3*3*120°| M2*85-Schraubenzieher |
KpoHwTeitH 3*3*120° | Staffa OtBepTka M2*85 | Cacciavite
3%3*120°| =2f21(3°3*120°) | 2 M2*85| A28 Sato|H{(M2785)|
%23"3"120° M2*85 $B4HEE T

(25) ”

M4*8mm Screw |Vis
M3*8mm | Tornillo M4*8mm |
Parafuso M4*8mm |
M4*8-mm-Schraube | Bunt
M4*8mm | Vite M4*8mm |
LEAKM4*8mm) | M4*8mm 8844

M3 Nut | Ecrou M3 | Tuerca M3
| Porca M3| M3 Mutter | Faiika

M4 Nut| Ecrou M4 | Tuerca M4
| Porca M4 | Mutter M4 | LLaii6a
M4| Dado M4 | LIE(M4) |

%

Plastic Rivet | Riveten
plastique | Remache de pléstico

LED Matrix | Matrice LED | Matriz
de LED | Matriz LED | LED-Matrix|
CBeTopvoaHasi MaTpuLa | LED
Kunststoffniete | MnacTvikosas
3aknenka | Rivetto in plastica |
ZRfAE] 2|H | BERIET

(10)%

Plastic Spacer4*7*10|
Entretoise en plastique 4*7*10 |
Separador de plastico4*7*10|
Espagador de plastico4*7*10 |
Kunststoffdistanzscheibe
4*7*10| NMnactukosast
npocraska4*7*10 |
Distanziatore in plastica4*7*10 |
Z2tAE] AT0|A(477*10) |
41710 B BRBEAE

@

Infrared Remote
Controller | Télécommande
infrarouge | Mando a distancia
infrarrojo | Controlador remoto
IV Me | Infrarot-Fernbedienung |
VIK-nynsT AUCTaHUMOHHOTO
ynpasneHus | Telecomando a
infrarossi | {2l 2|22 | 4T4h

® @

® @ @@@99 @@ ®w ©® 0

4

@

© il O :
o | B

I
FREEs |

(=] Ji]
TEE

i

@
l
&

Shgpnaatsh

D
B0
ggn 90

®
° oJegW °
® 3 - D
o 0@ Bl ®m o) -
®

CR <

@

AA Battery Holder Interface | Interface de support de pile AA | Interfaz del soporte para pilas AA | Interface de suporte para pilhas AA| AA Batteriehalter-
Schnittstelle | CoepvHerme aepxatens ans akkymynsitopa A | Interfaccia supporto batteria AA | AAHHE{2| ZCf QIE{H|0|A | it E

3.7V Lithium Battery Interface | Interface de pile aulithium 3,7 V| Interfaz de la baterfa delitio de 3,7V | Interface de bateria de litio de 3,7V | 3,7V Lithium-
Batterie-Schnittstelle | CoepuHerue gns nuTueBoro akkymynstopa 3,7 B | Interfaccia batteria al litio 3,7 V| 3.7V 2| & HHE{2| QIE{H|0|A | 3.7V 2 E N T

Reset | Bouton Réinitialiser | Reinicio | Reiniciar | Zuriicksetzen | C6poc | Reset | MAIE | S RkHEsR

Power Switch | Bouton ON/OFF | Botén de encendido/apagado | Interruptor de alimentacio | Netzschalter | Boikntouatens nutakus | Interruttore di
alimentazione | Tl A9(x| | SEFRIRI

USB Connector | Connecteur USB| Conector USB | Conector USB | USB-Anschluss | USB-pasbem | Connettore USB | USB 7{E{ | 5V USB &

Motor Interface | Interface moteur| Interfaz del motor | Interface do motor | Motor-Schnittstelle | ViiTepdelic gsuratens | Interfaccia del motore | 2E
QIE{HO|A | BN

RJ25 Port|PortRJ25| Puerto RJ25 | Porta RJ25 | RJ25-Port | Mopt RJ25 | Porta RJ25 | RI25 ZE | RI25 717
RGB LED | Témoin LED RVB| LED RGB| LED RGB | RGB-LED | RGB-caeTopuop | LED RGB| RGB LED | LED 2%
Buzzer |Indicateur sonore | Timbre | Campainha | Summer | 3ymmep | Cicalino | X | #0588

Button | Bouton | Botdn | Botdo | Schaltflache | Knonka | Pulsante | HE | &8

Infrared Receiver | Récepteur infrarouge | Receptor de infrarrojos | Recetor de infravermelhos | Infrarotempfanger | MHcpaxpacHbili npremHmk | Ricevitore
ainfrarossi | el £=217| | ATMgiZRES

Light Sensor | Capteur lumineux | Sensor de luz | Sensor de luz | Lichtsensor | CeeTosoi patumk | Fotocellula | 4 MM | FARESRIZS

Infrared Transmitter | Emetteur infrarouge | Transmisor de infrarrojos | Transmissor de infravermelhos | Infrarotsender | MHcpakpacHbiii nepeaatau |
Trasmettitore ainfrarossi | 2| d &417| | ATHMRaE5TE8

Infrared Remote Controller | Télécommande infrarouge | Mando a distancia infrarrojo | Controlador
remoto IV Me | Infrarot-Fernbedienung | IK-nynsT guctaHuyoHHoro ynpaeneHus | Telecomando a
infrarossi | M2| M 2|2 | ATSMGRERER

Buttons instructions | Boutons - instructions | Instrucciones de botones | Instrugdes dos botes | Hinweise zu Tasten | IHCTpyKLyv no
KHomKaM | Istruzioni dei pulsanti | HE XI&! | 2882588

(1) Obstacle avoidance mode | Mode évitement d’ obstacles | Modo de evitacién de obstéculos | Modo de
contorno de obstaculos | Hindernisvermeidungsmodus | Pexwim o6xopa npensitcTauii | Modalita evita
ostacoli| HOHE 21| 2= | BBEHEE

(@ Manual control mode|Mode de commande manuelle | Modo de control manual | Modo de
controlo manual | Manueller Steuerungsmodus | Pexum pyuHoro ynpasnenus | Modalita controllo
manuale| 5 23 2E | FjE

@ Line-following mode | Mode suivi de ligne | Modo de seguimiento de linea | Modo de seguimento de
linha | Linienfolgemodus | Pexwim agixerms no nnHim | Modalita segui traccia | 41 28 2 E | Mg

@ Move forward | Avancer | Avanzar | Avangar | Vorwiirts | [iwerue Bniepes | Procedi | B! | #ie

(8 Turn left| Tourner a gauche | Girar a la izquierda | Virar a esquerda | Nach links | losopot Haneso | Gira a
sinistra | ZH|H | 248

(® Move backward |Reculer | Retroceder | Retroceder | Riickwirts | Agwwkenie Hasap | Retrocedi | $7! | i

(@ Turn right| Tournera droite | Girar a la derecha | Virar a direita | Nach rechts | Mosopor Hanpago | Gira
destra | 22|H | 55

Speed level dial | Molette de vitesse | Indicador de nivel de velocidad | Mostrador de velocidade |
Geschwindigkeitswahler | Perynstop ckopocti | Manopola del livello di velocita | £ CHOI | &RERE A/
i

Battery Installation Guide | Guide d” installation des piles | Guia de instalacién de la pila | Guia de instalagdo da bateria | Anleitung zum
Einsetzen der Batterie | PykoBopcTBO o ycTaHoBke 6atapen | Manuale di installazione delle batterie | BHE{Z| M| QLY | EB5thZe4EaR08

@ Keep pressing| Maintenez une pression | Mantenga presionado |
Manter pressionado | Gedriickt halten | HaxwvuTe n gepwure |
Continua a premere | | +SLICH fREHZE

@ Pullthe battery case| Enlevez le compartiment a piles | Retire la
carcasa de la pila | Retirar a caixa da bateria | Am Batteriefach ziehen |
BbiTsiHuTe OTCeK st 6atapeu | Tirare il vano portabatterie | HHE{2|
A0lAE &7 [ Hit Bz

CR2025

(notincluded in the package
| nonincluses dans le colis |
noincluidas en el paquete |
néoincluidas na
embalagem | nichtim
Lieferumfangenthalten | He
BXO[IAT BKOMMINEKT| non
incluse nella confezione |
E 70l | BT aE)




Building Instructions | Instructions de montage | Instrucciones de montaje | Instrugdes de
construgdo | Bauanleitungen | IHcTpykumm no c6opke | Istruzioni per la costruzione | %]
X | FarsEzg

1:1

[NINOATINNMANOCNWN - m3*25mm (2)

1:1 Q]bﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂb M2.2x9mm (2)

@ w32

1:1 M4*14 mm (2)

Wiri Ng | Cable | Cableado | Cabos | Verkabelung | Mposoaka | Cablaggio |
HH | AR

(@) Motor (Right) | Moteur (droit) | Motor (derecho) | Motor (direita) | Motor
(rechts) | Aguratens (npasbiii) | Motore (a destra) | 2E{() | Eig (&)

(2 Motor (Left) | Moteur (gauche) | Motor (izquierdo) | Motor (esquerda) |
Motor (links) | Aiguratens (nesbii) | Motore (a sinistra) | 2E4(Zt) | St ()

Now that you have built the robot, open the Quick Start Guide and start coding! | Ton robot est prét !
Lis le Guide de démarrage rapide et commence a programmer ! | Ahora que ya ha montado el robot,
abra la Guia de inicio rapido y empiece a programar. | Agora que construiu o robd, abra o Guia de
introdugdo e comece a programar! | Da Sie den Roboter jetzt zusammengebaut haben, 6ffnen Sie die
Schnellstartanleitung und beginnen Sie zu programmieren! | Mocne 3aBepLuerus c6opku po6ota
MOXHO OTKPbITb PYKOBOACTBO M0 Hauasy paboTbl ¥ MPUCTYNUTB K NporpaMmupoBaHuio! | Ora che
hai costruito il robot, apri la Guida rapida e avvia la codifica! | 222 4x| 22O W= A|Zt
710|=E Hol TS A|ZotH|Q! | ELiR! FEER5TAt, IRIEFTRINOEMEM IR, Bt HIE!

More Shapes | Plus de formes | mas
formas | mais formas | Mehr Formen |
Bosbue dopm | Altre Forme | B B2

HEll | ESAZRE

For more information, please visit | Pour plus d'informations,
consulte lesite | Para més informacion, visite | Para obter mais
informagdes, visite | Fiir weitere Informationen besuchen Sie bitte |
[inst nony4eHst NoAPOBHbIX CBefeHIIA NoceTuTe Beb-CaiAT | Per
maggjiori informazioni, visitare il sito web | & XbA3H &=
SH[O|X|ol|Af 2ol 2~ AELICH BL &AL
https://www.makeblock.com/

FCC Statement:

This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions:

(1) This device may not cause harmful interference, and

(2) This device must accept any interference received, including interference that may cause undesired operation.

Warning: Changes or modifications not expressly approved by the party responsible for compliance could void the user's authority to operate
the equipment.

NOTE: This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to Part 15 of the FCC Rules.
These limits are designed to provide reasonable protection against harmful interference in a residential installation. This equipment
generates uses and can radiate radio frequency energy and, if not installed and used in accordance with the instructions, may cause harmful
interference to radio communications. However, there is no guarantee that interference will not occur in a particular installation. If this
equipment does cause harmful interference to radio or television reception, which can be determined by turning the equipment off and on,
the user is encouraged to try to correct the interference by one or more of the following measures:

+Reorient or relocate the receiving antenna.

+Increase the separation between the equipment and receiver.

-Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.

- Consult the dealer or an experienced radio/TV technician for help.

FCC Radiation Exposure Statement:
This equipment complies with FCC radiation exposure limits set forth for an uncontrolled environment.This equipment should be installed
and operated with minimum distance 20cm between the radiator & your body.

C DECLARATION OF CONFORMITY | DECLARATION DE CONFORMITE | DECLARACION DE CONFORMI-
DAD | DECLARAGAO DE CONFORMIDADE | KONFORMITATSERKLARUNG | 3ASIBIEHUE O COOTBETCTBUM |
DICHIARAZIONE DI CONFORMITA | & A

Declaration of conformity Hereby, Makeblock Co., Ltd., declares that this product is in compliance with the essential requirements and other relevant provisions of
Directive RED 2014/53/EU and the RoHS directive 2011/65/EU. | Déclaration de conformité Makeblock Co., Ltd. déclare par la présente que ce produite est conforme
aux principales exigences et autres dispositions pertinentes de la directive Directive RED 2014/53/UE et de la directive RoHS 2011/65/UE. | Declaracién de
conformidad. Makeblock Co. Ltd. declara por la presente que este producto cumple los requisitos esenciales y otras disposiciones pertinentes de la directiva RED
2014/53/UE y la directiva RoHS 2011/65/UE. | Declaragdo de conformidade. Pelo presente, a Makeblock Co., Ltd., declara que este produto estd em conformidade
com os requisitos essenciais e outras disposicdes relevantes da Diretiva RED 2014/53/UE e da Diretiva RoHS 2011/65/UE. | Konformitatserkldrung Hiermit erklart
Makeblock Co., Ltd., dass dieses Produkt die grundlegenden Anforderungen und anderen relevanten Vorschriften der Richtlinie RED 2014/53/EU und der
RoHS-Richtlinie 2011/65/EU einhilt. | 3asiBneHue o cootseTcTBUM. HacTosilumm komnanmns Makeblock Co., Ltd. 3asiBnsieT, 4T0 JaHHbI NPO/YKT COOTBETCTBYET
OCHOBHbIM TPE6OBAHNAM U APYTVIM COOTBETCTBYIOLLMM NONOXeHUsIM upekTusbl RED 2014/53/EU 1 aupektusbl RoHS 2011/65/EU. | Dichiarazione di conformita:
la Makeblock Co., Ltd., con la presente dichiara che questo prodotto & conforme ai requisiti essenziali ed alle altre disposizioni pertinenti della direttiva RED
2014/53/UE e della direttiva RoHS 2011/65/UE. | 0] K&t 421A1E S8l Makeblock Co., Ltd. &= £ AIE0| RED X| & 2014/53/EU X RoHS x| 2011/65/EU | Z4= 27
AFS} G J|E} R RS2 Zatte MotSiLC)

o 2TE ErysE AU

Warning | Avertissement | Advertencia | Cuidado | Warnung | pepynpexpenue | Attenzione | 21 | &

Recommended for children of ages 8+. | Recommandé pour les enfants de 8 ans et plus. | Recomendado para nifios mayores de 8 afios. | Recomendado para
criangas com 8 anos de idade e superior. | Empfohlen fiir Kinder tiber 8 Jahren. | PekomeHayeTcs anist fieteit crapue 8 net.Consigliato per bambini di eta superiore a
8anni. |8 Al 0| 42| 012107} AL 317 |0l HErefLICt. | A MEVERE T4 8 BRI Lo

Not suitable for children under ages 3.| Ne convient pas aux enfants de moins de 3 ans. | No adecuado para nifios menores de 3 afios. | N&o recomendado a
criangas com menos de 3 anos de idade. | Nichtjﬂl Kinder unter 3 Jahren geeignet. | He nopgxoauT ans feteit mnaguwe 3 ner. | Non adatto a bambini di eta inferiore
a3anni.|3 4l 0|2te] 0f210|7} ALE5t7|ofli= EABIEILIC | ARG 3B FRERER.

Misuse of transformer can cause electrical shock. | Une utilisation incorrecte du transformateur peut entrainer un choc électrique. | El uso indebido del
transformador puede causar choque eléctrico. | O uso incorreto do transformador pode causar choque elétrico. | Die unsachgemaRe Verwendung des
Transformators kann zu Stromschlégen fiihren. | pu HenpaBUAbLHOM UCNO/E30BaHNM TPAHCOPMATOPA CYLLECTBYET PUCK NOPAKEHNS INEKTPUHECKIM TOKOM. |
Un utilizzo improprio del trasformatore puo causare scosse elettriche. | 17| S ZH2 AFESI 7| 237t 2Het 4= AELICE | sRAEER R E BRER

The toy is not to be connected to more than the recommended number of power supplies. | Le jouet ne doit pas étre branché a un nombre de sources

d’ alimentation supérieur & celui recommandé. | No se debe conectar el juguete a un niimero mayor del recomendado de fuentes de alimentacion. | Ndo devera
conectar o brinquedo a mais fontes de alimentagao que o niimero recomendado. | Das Spielzeug darf nicht an mehr als die empfohlene Anzahl von Netzteilen
angeschlossen werden. | 3anpeLaeTca NOAK4aTb MFPYLLIKY K UCTOYHIMKAM NUTaHMS, KONMYECTBO KOTOPbIX MPeBbILIAET pekoMeraosarHoe. | Il giocattolo non
puo essere collegato a un numero di fonti di alimentazione superiore rispetto a quello consigliato. | 0| ZH-HzHe HEE|= JH4: ofstel P S Ax|ot HZsHof EHLICE |
AR SN EEHENEIR L,

The toy shall only be used with a transformer for toys. | Le jouet doit uniquement étre utilisé avec un transformateur pour jouets. | El juguete solo debe utilizarse con
un transformador para juguetes. | Devera somente usar o brinquedo com um transformador adequado. | Das Spielzeug darf nur mit einem Transformator fiir
Spielzeug verwendet werden. | VIrpyLuky cneqyeT Ucronb3oBaTh To/bKo ¢ TpaHcdopmaTopom ais urpyLuek. | Il giocattolo deve essere utilizzato esclusivamente
con un trasformatore per giocattoli. | 0] Z'HZoll= T& HY7|2te ArZslof iL|Ct | TR R aEtEAchi A S R gt 2

Please use the recommended transformer to charge the product. | Veuillez utiliser e transformateur recommandé pour recharger le produit. | Use el adaptador
recomendado para cargar el producto. | Deverd usar o transformador recomendado para recarregar a bateria do produto. | Das Produkt darf nur mit dem
empfohlenen Transformator aufgeladen werden. | 115 3apsiaKu 13genus ncnonb3yiiTe pekoMeHJoBaHHbIV TpaHcdopmarop. | Per ricaricare il prodotto, utilizzare il
trasformatore consigliato. | 2% 27| S AF8510] MIZS STSHIAL. | AR EHRIVEERE HERME

The transformer s not a toy. | Le transformateur n” est pas un jouet. | El transformador no es un juguete. | O transformador ndo é um brinquedo. | Der Transformator
ist kein Spielzeug. | TpaHcopmatop — He nrpyLukal | Il trasformatore non & un giocattolo. | #1f7[= ZH-H240| OHEILICE | ZEEE R 25 A

Please make sure the product is powered off and disconnected from any external power supply when liquid is used to clean the product. | Assurez-vous que le
produit est hors tension et débranché de toute source d’ alimentation externe lorsqu’ un liquide est utilisé pour nettoyer le produit. | Asegurese de que el producto
se apague y desconecte de la alimentacion externa cuando se use liquido para limpiar el producto. | Devera certificar-se de que o produto esta desligado e
desconectado de qualquer fonte de alimentaggo externa sempre que usar qualquer liquido para a sua limpeza. | Vor dem Reinigen des Geréts mit Fliissigkeiten ist
sicherzustellen, dass es ausgeschaltet und von der externen Stromquelle getrennt ist. | Mpex e YeM BbINONHATH BAXHYHO OHUCTKY U3AENMS, y6EAUTECh, YTO OHO
BbIK/IKOYEHO W OTCOEAMHEHO OT 10GbIX BHELUHMX MCTOYHUKOB nuTaHms. | Quando si utilizzano liquidi per pulire il prodotto, assicurarsi che quest’ ultimo sia spento e
scollegato da qualsiasi fonte di alimentazione esterna. | 4| S AL83I] HIES HAY Z2, MZe| MR0| /A U1 RE 2|2 M I3 FX0|M 22l=| A=
QIS 2. | BRASE RTTRRIE Tk TR

The transformers used with the toy are to be regularly examined for damage to the cord, plug, enclosure and other parts, and in the event of such damage, they
must not be used until the damage has been repaired. | Les transformateurs utilisés avec le jouet doivent étre examinés régulierement afin de vérifier | absence de
dommages au niveau du cable, de la prise, du coffret et d’ autres parties. Sivous constatez des dommages, ne les utilisez pas jusqu’ a ce qu’ ils soient réparés. |

Los transformadores que se utilicen con el juguete deben revisarse de forma regular para verificar si el cable, enchufe, la carcasa u otras piezas se encuentran
dafiadas, y en caso de estarlo, no deben utilizarse hasta tanto se haya reparado el dafio. | Os transformadores usados com o brinquedo devem ser regularmente
examinados quanto a danos no cabo, tomada, gabinete e outras pegas. Caso haja danos, ndo deverd utilizar o brinquedo até que sejam reparados. | Kabel, Stecker,
Gehduse oder andere Teile von Transformatoren, die zusammen mit dem Spielzeug verwendet werden, miissen regelmaRig auf Beschadigungen untersucht
werden. Das Geréte darf erst wieder verwendet werden, wenn der Defekt behoben wurde. | Tparcchopmatopet, ucronbayembie ¢ UrpyLKOU, HEOBXOAVMO
perynsipHo MpoBepsiTb Ha MPeAMET NOBPEXAEHUI1 Kabensi, pasbema, Kopriyca 1 Apyrix YacTeit. B cnyyae o6HapyxeHust ntobbix NO[0GHbIX MOBPEXAEHMI
3KCnAyaTaLys TpaHchopMaTopa 3anpeLuaeTcs Ao Ux ycTpaHerus. | | trasformatori utilizzati con il giocattolo devono essere esaminati regolarmente per accertare la
presenza di danni al cavo, alla presa, al contenitore e ad altre parti. Nel caso in cui siano presenti danni, i trasformatori non devono essere utilizzati fino a quando i
danni non sono stati riparati. | Stz 3t AF83H= Hel7|= FIIMOR FYsto| A, Z210, Y & F20i| 240 gL=X| 2olsHof 310, 240| Uit FL oid £ES
2|2 W7EK| HAT|S AFSHH o ELIC | ST R—RME RS R AE IR E H B TR, MR M AR SRR, RIURIRREE LM, EESET
Thetoyis only to be connected to Class Il equipment bearing the following symbol. | Le jouet doit uniquement étre connecté a des équipements de classe Il
présentant le symbole suivant. | El juguete solo debe conectarse a equipos Clase Il que contengan el siguiente simbolo. | O brinquedo so deve ser conectado a
equipamento Classe Il contendo seu respectivo simbolo. | Das Spielzeug darf nur mit Geréten der Klasse Il verbunden werden, die mit dem folgenden Symbol
versehen sind. | VirpyLuiky MOXHO NoaK/to4aTh TobKo K 060pyAoBaHHto knacca ll, 0603HaueHHoMy criepytoLLym cumBonoM. | Il giocattolo deve essere collegato
esclusivamente ad apparecchiatura di Classe Il che riporta il seguente simbolo. | O] ZtH22 CHS1H 212 7|57t 222853 717(0figt 23S 4 QUELICH | AR ERR
BESRTSE TYNEREZRAY 1| 45 (Class II) &, @

This product contains a Button or Coin Cell Battery. A swallowed Button or Coin Cell Battery can cause internal chemical burns in as little as two hours and lead to
death. Dispose of used batteries immediately. Keep new and used batteries away from children. If you think batteries might have been swallowed or placed inside
any part of the body, seekimmediate medical attention. | Ce produit contient une pile bouton. Avaler la pile bouton peut provoquer des briilures chimiques internes
endeux heures a peine, et entrainer la mort. Jetezimmédiatement les piles usagées. Gardez les piles (neuves ou usagées) hors de la portée des enfants. Sivous
pensez que les piles ont pu étre avalées ou ont pu se retrouver dans n” importe quelle partie du corps, consultezimmédiatement un médecin. | Este producto
contiene una Pila de botén o moneda. La ingesta de una pila de botén o moneda puede causar quemaduras quimicas internas en tan solo dos horas y puede causar
la muerte. Deseche las pilas usadas de inmediato. Mantenga las pilas nuevas y usadas lejos del alcance de los nifios. Si cree que alguien ha ingerido pilas o que han
ingresado en alguna parte del cuerpo, busque atencion médica inmediata. | Este produto contém uma bateria tipo botdo ou moeda. Uma bateria tipo bot&o ou
moeda, se ingerida, pode causar queimaduras quimicas internas em menos de duas horas e levar a vitima a morte. Deve descartar baterias usadas imediatamente.
Deve manter baterias novas e usadas fora do alcance de criancas. Se suspeitar que baterias tenham sido engolidas ou colocadas em qualquer parte do corpo, deve
procurar atendimento médico imediatamente. | Dieses Produkt ist mit einer Knopf- oder Knopfzellenbatterie ausgestattet. Knopf- oder Knopfzellenbatterien konnen
bei Verschlucken schwerwiegende innere chemische Verbrennungen verursachen und innerhalb von zwei Stunden zum Tod fiihren. Gebrauchte Batterien sind
umgehend zu entsorgen. Neue und gebrauchte Batterien sind aufserhalb der Reichweite von Kindern aufzubewahren. Bei Verdacht des Verschluckens oder
Einfiihrens von Batterien in ein Kérperteil ist sofort ein Arzt zu Rate zu ziehen. | [JaHHOe 13aene CopepuT M0CKyHo Kpyryto Gatapeto. B ciyyae npornatbiBaHms
TaKas 6aTapest CrloCoGHa BbI3BATb BHYTPEHHIE XMIMUHECKIE OXKOTY B TEYEHIE IBYX YaCOB, YTO MOXET NPUBECTY K IeTaNbHOMY Ucxopy. /ICNo/b30BaHHbIe
6atapeu ciefyet HeMeaIEHHO YTUAU3NPOBaTb. HOBbIE 11 MCMOMb30BaHHbIE GaTapen AOMKHbBI XPaHUTLCS B HEAOCTYMHOM 151 AeTei MecTe. Ecav Bbl
10A03pEBaETe, YTO KTO-TO MPOMIOTIA GATapeto UK OHa UHbIM 06PA3OM OKa3anack BHYTPU Tena, HeMegIeHHO 0BPaTUTECh 3 MEULIMHCKOM NOMOLLBH. | Questo
prodotto contiene una batteria a bottone o a pulsante. Se ingerita, una batteria a bottone o a pastiglia puo causare gia dopo due ore ustioni chimiche interne e
portare alla morte. Smaltire immediatamente le batterie utilizzate. Tenere le batterie nuove e quelle utilizzate fuori dalla portata dei bambini. Se si sospetta
['ingerimento delle batterie o ' inserimento delle stesse in qualsiasi parte del corpo, rivolgersiimmediatamente a un medico. | 0| H|Z2 HE = A0l 4 HiE{2|et
P MZELICE HE = 301 A HHE{2|S 47|21 MLl 2412400 ZX MAS| SHeHX| 31af0| LOiLITY AFYO]| OfF 4= RUELICE 0| LISt BHE{2|i= ZA| 17 [sHoF
BILICE DA & 0] CiptHHE{2|= 0{210]2f £0] ZX| oh= R0|| 2RSHIAIR. HHEI2|S MZFLE MK| 59| 0ICIE Mol SOZICHS 2|40] S B2, FAl QM| =82
Hotof piLIC) | A ERE S —HENEE BERFBIM, EATIEM) S, ARSREPIE LSS, SEOT T AR B S BRI AR TR R
BRI MRIFBAFRE T, LR BB SR EREDIAIRIAE, SHIEILES. "




ZiESHREIZENSZA_EEZEFM_VI11
R~F:140*200mm (5% 5a)
MR 1005 PHK T2 M@ENEENR. Hrm



